ALIGNING POLARIEETION VECTO
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Most lasers are polarized. Proper alignment of the ¥hane j?
of polarization will increase throughput of kight threngh glass "
plates and minimize the dreaded woodgrain! - i,
Cylindrical laser heads can simply be rotated to find the
proper plane of polarization. Lasers which have a pPermanent
orientation require the magic of half-wave retardation plates
to spin their vectors.
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For single beam work, a half-wgve pPlate positioned before
the spatial filter is all that's necessary. When splitting the
beams with a rotary or mirror type beamsplitter a half-wave plate
positioned before the beamsplitter is all that's necessary again;
‘but rotating the half-wave Plate may change the beam balance ratio
because the reflected beam may get stronger or weaker depending
“on the orientation of the beam going into the splitter.

" But since the beams coming out of polarizing beamsplitting
¢ubes are polarized at right angles to each other a half-wave
plate may be necessary in one beam or the other or both! Check
both beams! _ oo
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STEP I: Observe the reflection
of the reference beamfrom a piece
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of glass in the plateholder on a

, AN white card. Rotate the polatrizs
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STEP II: Determine orientation
of plane of polarization by min-
imizing the shadow of a Polaroid
filter (rotate the filter) placed
in contact with the glass plate’
placed in the plate holder. |
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object beam STEP III: Rotate the polar-

ization of the object beam to
match the reference beam. Look
through the Polaroid at the object
and rotate the polarization of its
beam so that the throughput is

0g <y minimized. PROBLEM - Some objects

e S ‘9@{9@\ - - do such a good job of randomizing

holoplate AyS Op - the polarization that there is no

holder 62; best orientation of the half-wave
w/Polaroid® &2 plate.
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